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. log,(x) =log,(6) -log,(14) +log,(5) nXaN NXwNA DX NMN9 2.1 720N

.log,(x) =1-log,(16) +log,(7) NXAN AXIYNN DX NN 2.2 720N

log+(5) =p,logs(6) =q,x =log5(437400) DM 2.3 720N

-g -1 p NIYXNX2 X NX IX02

-10g2(5)=p,log2(3)=q,x=log2[4Tw] DM 2.4 90N

. g -1 p NIYXNKD X NX IXL2

Clgx =51g2-41g8 +4 X NN |QAWNN1 WIN'Y X77 awn 2.5 720N
4 =
-lga=3 lsb=4x :az]/a B° (m 2.6 722N
dgx nx nwn

.x:lg(3'4],lg[10-32]:a DM 2.7 7N

.4 NIYXNXR] X IR IX02

x=log_1(5),1og1(5'454]=a DM 2.8 an
5 5

.a NIYXNKA X DX IRV

. x=log¢(1024),log,(5)=a MM 2.9 72an
.a NIYXNX2 X DX IXL2



‘D2IMIN MOV X DX jAwNn wm'w X77 nwn 2.10 722N
k

x=0.5", k =log 5(36), p =log 5(0.25)

. x=log.s(24), logg(3)=0.53 D m 2.11 7nn
JAWNN2 D'ANMAIT DY AW X77 X DX 12N

.x=log,(9), log.(9) =1.37, log,(9) =3.17 jJm 212 7an
JAYNN D'ANMAIT DY AWN K77 X DX 12UN

.x =logy.(24), log,(4)=0.77 qm1 2.13 7aan
JAYNNN NIYYAND D'ANMAIZ DWW AIWN K77 X DX QwN

.x =log;5(6) , log,(6) =1, log,(6)=2.58 qm1 2.14 7aan
lAwNna 0'MNMAI7N AWN K77 X DX 1AwN



